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Question: 1

During an initial setup of a Synergy environment, an integrator needs to enable or disable

authorized Service access.

What will be the outcome when the integrator disables this service?

A. Authenticated administrators will be unable to make changes to the system

B. Authorized users will be unable to generate a support dump

C. Authenticated administrators will be unable to access the system

D. Authorized support will be unable to diagnose the system

Answer: D

Reference:

https://support.hpe.com/hpsc/doc/public/display?docId=emr_na-c05098314 (62)

Question: 2

A customer has the following configuration:

Frame 1

• Bay 1 – HPE Synergy 12Gb SAS Connection Module

• Bay 2

• Bay 3 – HPE Virtual Connect SE 40 GB F8 Module

• Bay 4 – HPE Synergy 12GB SAS Connection Module

• Bay 5

• Bay 6 – HPE Synergy 10 Gb Interconnect Link Module

Frame 2

• Bay 1 – HPE Synergy 12Gb SAS Connection Module

• Bay 2

• Bay 3 – HPE Synergy 10Gb Interconnect Link Module

• Bay 4 – HPE Synergy 12Gb SAS Connection Module

• Bay 5

• Bay 6 – HPE Virtual Connect SE 40Gb F8 Module

How many more frames can the customer add to their Synergy composable fabric? (Note:

https://support.hpe.com/hpsc/doc/public/display?docId=emr_na-c05098314
https://support.hpe.com/hpsc/doc/public/display?docId=emr_na-c05098314
https://support.hpe.com/hpsc/doc/public/display?docId=emr_na-c05098314


Questions & Answers PDF Page 3

https://www.certkillers.net

Enter your answer in the answer field below.)

A. Frame 1 – Bay 2 – HPE Virtual Connect SE 100Gb F32 Module for Synergy

(867796-B21)

Frame 1 – Bay 5 – HPE Virtual Connect SE 16Gb Fibre Channel Module for

Synergy (779227-B21)

Frame 2 - Bay 2 – Brocade 16Gb/24 Power Pack+ Fibre Channel SAN Switch Module for

HPE Synergy (K2Q86A)

Frame 2 – Bay 5 – HPE Synergy 4820C 10/20/25Gb Converged Network Adapter (876449-

B21)

B. Frame 1 – Bay 2 – HPE Virtual Connect SE 100Gb F32 Module for Synergy

(867796-B21)

Frame 1 – Bay 5 – HPE Virtual Connect SE 16Gb Fibre Channel Module for

Synergy (779227-B21)

Frame 2 – Bay 5 – HPE Synergy 4820C 10/20/25Gb Converged Network Adapter (876449-

B21)

Answer: A

Question: 3

In a 3-frame HPE Synergy environment, how should an integrator place the image Streamer

modules to allow for redundancy to all of the management connections?

A. one Image Streamer module in frame 2, and a second Image Streamer Module in frame 3

(2 total)

B. two Image Streamer modules in frame 2, and two Image Streamer modules in frame 3 (4

total)

C. one Image Streamer module in each Synergy frame (3 total)

D. two Image Streamer modules in frame 1 (2 total)

Answer: B

Reference:

https://www.karma-group.ru/upload/iblock/2be/synergy_image_streamer.pdf (page 7)

https://www.karma-group.ru/upload/iblock/2be/synergy_image_streamer.pdf
https://www.karma-group.ru/upload/iblock/2be/synergy_image_streamer.pdf
https://www.karma-group.ru/upload/iblock/2be/synergy_image_streamer.pdf
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Question: 4

HOTSPOT

An integrator has installed a new Synergy frame into a rack with two existing Synergy

frames in a customer’s environment.

Click where the integrator should verify that the cabling for the management ring was

completed correctly.

Answer:

Reference:

https://support.hpe.com/hpsc/doc/public/display?docId=a00048164en_us

https://support.hpe.com/hpsc/doc/public/display?docId=a00048164en_us
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Question: 5

Refer to the exhibit.

How should an integrator pair interconnect bays to set up redundant fabrics in an HPE

Synergy 12000 Frame?

A. Interconnect bays 1 and 2; bays 3 and 4; bays 5 and 6.

B. Interconnect bays 1 and 6; bays 2 and 5; bays 3 and 4.

C. Interconnect bays 1 and 4; bays 2 and 5; bays 3 and 6.

D. Interconnect bays 1 and 3; bays 2 and 4; bays 5 and 6.

Answer: C

Reference:

https://h20195.www2.hpe.com/v2/GetPDF.aspx/c04815113.pdf

https://h20195.www2.hpe.com/v2/GetPDF.aspx/c04815113.pdf
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